©2% 2%e)M CD ¢ Zo|
g 752,

DH= AB=6 cm
AABC oA

s (B _ o % o 5
BC —(2) 6==" . BC=- ()

- CH=BC+BH=5+2= (em)
ACDHOIIA]
9 )2 225

B
2




S8Z 3ol A
ZABC=£BCD=90"9] s5em

a, AB=5 cm, B
AC=13 cm, CD=11cm

9w, AD el Zolg 73}

Al
> E:
> ®™EHD 20em
AABC oA A
— N 13cm
BC =13"—5" =144 5crr31 N o
_ B {
BC=12(cm) b
£% %3 o] A D llem
ol AB 9 Al Y = iS

Ao wg Bt ok

AAEDIA ED=BC=12 cm,

AE=5+11=16 (cm)o)22

AD” = 1224162 = 400
AD=20 (cm)




o} 2813} 2o] ADLBC o 7, AB =
7,0D = 49 1}, OA® +OB" + OC" + 0D
o] gre atolet.

\VARR 4
0
L

65

B ~
OA’ + OB’ +0C + 0D

:(GK?+6§ﬁ+(66?+653

—AB +CD

=T +4°

= 65




2 193 Zo] ACLBD ©|1 AB = A B
4, CD = 11 € W), AD” + BC” 9] g2
F5thodat,

@]

O 127 @ 130 (@)137 D

@ 140 ® 157

AOAD 9|4 OA” +0OD° =AD" ---

0
AODC 94 OD° +0C° =CD" --- @
AOBC 9|4 OB° +0C° =BC” --- ®
AOAB O OA’+ OB =AB --- @

O @S W tshd
OA°+0B°+0C°+0D°=AD +BC --- ®
@t @= W o5k
OA°+OB’+0C°+0D°=AB°+CD°--- ®
®2} ®)|4 AD” +BC = AB- + CD- o|2&
AD’ +BC° =42 + 112 = 16 + 121 = 137




